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Q1. Find cot(z+x)=?
(@) cot(x) (b) tan(x) (c) sin(x) (d) none of these

Q2. Calculate tan(270°+a).
(@) -tan(a) (b) -cot(a) (c) sin(a) (d). none of these

Q 3. Find the value of cosHT”:?.

(a) 1 (b) -1 ©5 (d) -

Q4. Findtan1500° =?
(a) V3 (b) -V3 (© @< %

Q5. Findsin(—240°) =7
OF (b) 2 ©% (@) 2

Q6. Findvalue of Sin?15°+ Sin? 645°:
@5 (b) 1 ©) % (d) None of these

\ . ) 5
Q7. Find value of sinxif cos?x %+ )sinx = "

(@) 2 (b) =1 ©+ (d) None of these

Q8. Ifsin 25° = x/y,then sec 25° — sin 65° is equal to
x2
(a) Tt () N ()ﬁ (d)y\/ﬁ
cos @ cosf .

Q9. If oo T oo Dsec 0,Findn?

(@)1 (b) 2 (©)3 (d)4

sin 3502 c0s 559\ 2 0 _

Q10. Find value of (2232 4 (255" _ 5 05 300 =2

(@) V3 (b) V2 (c)1—-+3 (d)y2-+/3
Q11. If cos*8 — sin* @ =K, then find the value of K?

(@)1 (b) 2cos?6 —1

(c) 2sin?6 — 1 (d)1—2cos?8
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Q12. Ifasin® =+/3 and acos 6 = 1, then the value of ‘a’ is:
(a5 (b) V3 (0) 2 (d) -1
Q 13. What is the value of sin? 8 + cos? 8 — tan? 8 — cot? 8 + sec? 8 + cosec? 6 =?
(a) 2 (b)3 ()5 (d)7
5sin6—-3cos 6
Ql4. 5 talne = 4, then the valui of (m) =?2 1
@< (b) - ©< (d) -
Q 15. IfSin37° =3/5, Find tan16° = ?
(@) 9/16 (b) 24/25 (c) 16/25 (d) None of these
Q16. Sin75° Cos 75° =7
(a) v2 (b) ¥a (€) % (d) V312
Q 17. Value of (0.9999)° is approximately
(a) 0.9991 (b) 0.9992 (c) 0.9994 (d) 0.9988
Q 18. Approximate value of sin 30.25%~ sin'30%.is
V3n NEY 4 b i3
(@) 1220 (b) o (c) Taz0 (d) 720
Q 19. Find approximate.change in volume of a cube on.changing.its-side from 600.000 meter
to 600.125 meter
(a) 125000 m3 (b) 145000 m?3 (€)-115000 m3 (d) 135000 m?3
Q 20. \If-tand =1, Find tang ?
(@) 0.41 (b) 0.62 (c)0.84 (d)0.31
Answer Key
Qla |Q2b |03 d |Q4 a |Q5 b
Q6 b |[Q7c |08 a [Q9 b |Q10 d
Qll b |Q12 ¢ |Q13 b [Q14 d |Q.15 d
Q16 b Q17 ¢ Q18 a |Q19 d |Q.20 a
Use code LIVE to get Maximum OFF on Unacademy PLUS / Iconic and learn from India’s Top Faculties



https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain

Plus leaderboard

RS PR pLus ISl (ke

Prateek Jain India's Best Educators

—

Interactive Live Classes

Ajay Mishra (Akm) Structured Courses & PDFs

3M min Live Tests & Quizzes

Shubh Karan Choudhary (Skc)

4
‘ M mins
Q Dr Amit Gupta
UF soum 24 months ¥2,100/mo
gl ﬁ-i » Ramesh Sharda +10% OFF
@ Sandeep Nodiyal 18 months ¥2,363/mo
1L.8M 1 +10% OFF <425
@

Shailendra Tanwar

Unacademy PLUS / Iconic and learn from India’s
B -Qi Nishant Varshney Top Faculties

7
12 months ¥2,888/mo
+10% OFF 23
Vishal Vivek
Garima Goel ¥4,200/mo
° +10% OFF ¥25,2C
o 3. Saurabh Sharma
&
£ Dr SKSingh Use code LIVE to get Maximum OFF on ~
i Q” (P RN s 4= Awesome! PHYSICSLIVE code applied
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DPP-1 Basic Maths: Trigonometry
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